Twn coepenunTens -3 (Al
OvameTp coenenutens (Mm)

Konn4yecTtBo KOHTaKToB (3,4,5,7)

MaTtepuan :

AnioMUHNI (Al

LinHk (Zn)

Bno4yHo kabenbHas BUIKa 6.K.B
BnouHo kabenbHas po3etka 6.K.p

KabenbHas Buika K.B.
KabenbHas poseTka K.p.
BnoyHasa Bunka 6.B.
BnoyHasa poseTka 6.p.

PacnonoxeHne KOHTaKToOB

6.K.B.
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OkpyxatoLiaa Temnepartypa: -55~ +85C
OTHOCUTENbHAA BNAXHOCTb: 93%
ConpoTuB/ieHME B HapMasibHbIX KITMMaTUYECKUX 1000
ycnosusix, He meHee, MOM
MakcmnmanbHas TokoBas Harpyska (A) 3
HanpsixxeHue (B) 250
CuHycauganbHas Bubpaums,y 0-500
npu YcKopeHun m/s2 100
OAHOKpaTHOro AencTBus YckopeHne m/s?2 250

MUWHUManNbHOE KONMYECTBO COYSIEHEHUN

500



